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ernatives

a) [MLTO] b) [ML =1 ‘
1 | =2 I,
2) If the lengt i i c) [ML™%T -
) and 3% r?ashpggt?vgwihpeer??ﬁeqf an qscillating pen]dulum ha\c/jg émtr?g 1%
gravity is error in measurement of acceleration due to
0,
3) ?f) : éoarticle has n W) : c) 6% d) 7%
a) increases egative velocity and negative acceleration, its speed
4) An object is dro c? UG- ediges c) remains same d) Zerop
ground in 2s Tr?pe in an unknown planet from height 50m, it reaches the
B = 20 k) £ aCt;:)der_atéon due to gravity in this unknown planet is
5) g =25 ms c)g=15ms?2  d)g=30ms?

a) 10 ms™! b) 20 ms-1 ') 40 ms

A boy drop a stone by mistake f ildi
i ; rom a building of height 40m, th i
with which the stone get, when it just reach tgl'j\e'grougrjwd is e e

o d) 5 ms™

- 6) fg\;vohblocks of masses m and 2m are placed on a smooth horizontal surface
: fs own. In the first case only a force F, is applied from the left. Later only
a force F, is ap_plled from the right. If the force acting at the interface of

the two blocks in the two cases is same, then F,:F, is

F
__l_u Fz
| 2m | m S

» a)ilil b)1:2. €) 2;1.-.
7) Choose the correct statement from the following

d)1:3

“a) Centrifugal and Centripetal forces are action reaction pairs

b) Centripetal forces is a natural force

c) Centrifugal force arises from gravitational force
~d) Centripetal force acts towards the centre and Centrifugal force appears

to act away from the centre in a circular motion

~ 8) Two bodies with same linear momentum moving W

‘ratio of 4:1, then their masses in the ratio
b) 1: c) 1:2

ith kinetic energies in the

d) 1:4

4:1 . 3
9) '%e work done by the conservative force‘)for a closed path is
: ¥ : b) zero .
2} always IRgaNe d) not defined '

c) always positive

three pieces. TWO pieces
with equal speed V. The3
v b) 2 mv?

a) mv? _
th a velocity

11) A motor boat moving Wi

n is lying in xy-plane at rest. It sudd ‘
sEgmie) egch of mass m move perpend|cular to each other

total kinetic energy generated due to explosion is

S ¢) 2mvZ
20 ms™ Y, experiencing a resistive force

ddently explodes into

d) 4mv?

of 2000 N by the water, the power of the elnging I\/S\I ‘ d) 13000 W
2) 1600 W b) 1200 W A iy T
12) A couple produces, v . p) pure translation
. rotation tion ' eh
a) pure ro d) no moti and radius R) rolling

- ation : ~
c) rotation and translatio;  a solid sphere (mass M
13) The ratio of the accelergalgog\ woithout slipping and slip

. down an inclineé of an

without rolling is, o . Y

. Kiﬂ?il?'gend Me Your Key Answer to Our email id - Pad

ping down the inclineé

d)7:5
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